Chapter 6.4 Notes
Logarithmic Functions

* Logarithms is just another way of thinking about exponents.

*2%_ 16— x=4
* This asks “2 raised to what power = 16”
*Logarithms say the same thing just written a little different.
* log 2 16{\: X
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1. Evaluate the expression without using a calculator.
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2. Find the exact value of the logarithm without using a calculator.
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3. Find the value of the logarithmic expression.
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4. Find the exact value of the logarithm without using a calculator.
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5. Change the exponential statement to an equivalent statement involving a logarithm.

o =4
N p=b = Loy, (0)= 0

&%z

lo (o) =
N ¥ Jusy repoaw e \eWtrs

(&% (1) =QJ with your Numbers.




6. Change the exponential statement to an equivalent statement involving a logarithm.

1.9 = 03<\C’

7. Change the logarithmic statement to an equivalent statement involving a exponent.
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9. Solve the following equation. Write the answer in terms of the natural logarithm.
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10. Solve the following equation. Write the answer in terms of the natural logarithm.
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11. The graph of a logarithmic function is given. Select the function for each graph from the given options.
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